Evirama 315

Kavw g npageig pe tn BoriBeia tng apiBpoypappn
Q) 12.840 4 573 = .oecerceninnne

&

. +_soo_ 070 +13
P - % 1_\1
12 840
B) 13.070 4 1.782 = ccccrnnnee
| JE— | | Ny e—
.. o X3

Y) 14810 + 3.832 = ..cviinisnnns

L — y p— SO —

e a4
Ynohoyil{w pe Tov vou kat ypagpw povo to anotédeopa.
) 12120+ 70 = | B) 13420 + 130 =/ _I
y) 13.050 + 680 = | 8) 15.480 + 270 =
€) 17.580 - 90 = | ] ot) 16.250 - 370 = |
{) 13.510 - 850 = | | n) 14.730 - 670 =
ZupnAnpuvw Ta Keva,
a) 12,000 = 11.400 + _ B) 12000=3 x|

Y, 12.000 = 17.000 - 6) 12.000 = &0003?:‘ i;; aRKSHEETS



